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1. =32] 3 (Boolean)
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>>> a=True == ZCt.
>>> type(a)
§c>Ia>ssa bool'> i oo
True X}
iii 3== >= AL} 2Lt
True <= Lt 2L}
>>> 31=3
False

>>> 3>3
False

>>> 3<3
False

>>> 3>=3
True

>>> 3<=3
True

>>>
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>>> 3 and 4

4 >>> 3 or 4

>>> 3 and O and 5 3

0 >>> 0 or O or O

>>> 0 or (3==4) 0

False >>> (3==3) or (4==3)
>>> (3 != 4) and 3 True

3 >>> 0 or (3==4)

>>> (3!=3) and 5 False

False >>>
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>>> samsung=45000

>>> if samsung<41000: # =714 I(samsung<41000) 2 HASED oA A Zolof| w2}
print('Buy 10 £H(True)O| H =04M7| 2% print('Buy 10)0| A3 =ICt
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>>> samsung=40000

>>> if samsung<41000: # =714 (samsung<41000)% I AtSED AAZADRO| o2t

print('Buy 10) # T (True)O|H SO M 7|5 % print('Buy 10)0] Al EIC}
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Buy 10 # Z7141(40000<41000)0| & (True)O| =|0f print('‘Buy 100 ASH &l
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print('Buy 10" )

print( ‘Sell 10" )
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False

print( ‘Holding’ )

end

>>> samsung=48000

>>> if samsung<41000: # =2 Z=714l(samsung<41000) o4t o4 Z 1ot
print('Buy 10" # ZH(True)0| ™ S0{A T[St Z& print('Buy 10)0| A& = C}
elif samsung>47000 : # CHA[ Z=714] (samsung>47000) o1 4tstil Z 1ot

print('Sell 10 # ZHo|™ print('Holding’) O] A&l =},
else : # ofL{H(HAO[H) CtS &2 S{MT|st &3
print(Holding ) # ot ™ print('Holding’) O A& =,
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>>>
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for —list, range
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>> print(1)

-> print(2)

>> print(3)

>>> print(4)

>> print(5)

> print(6)

>> print(7)

>>> print(8)

-> print(9)

>> print(10)
18

>>> foriin [0,1,2,3,4,5,6,7,8,9,10] :

print(i)
0
1
> >>> for i in range(0,11):
3 print(i)
5 0
6 1
7 2
8 3
9 4
10 >
>>> 6
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9
10
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>>> stocks=('Samsung','Naver','Daum’) # =
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>>> for company in stocks:
print('Buy 10 stocks of {}'.format(company))

Buy 10 stocks of Samsung
Buy 10 stocks of Naver
Buy 10 stocks of Daum
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3. for & : for- dictionary

3. for dictionary (AF#)

- A AL Yol U= 415 42 100,50,10F A= 25
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« (BH3HAE100), (Hlo]H,50), (Th=,10) => AFAE
» stocks={'Samsung":100,'Naver"50,'Daum'.10}
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« for company,num in stocks.items():

« for company in stocks.keys():

stocks [company], company

>>> stocks={'Samsung"100,'Naver":50,'Daum'.10}
>>> for company,num in stocks.items():

print('Buy {} stocks of {}'.format(num,company))

Buy 100 stocks of Samsung >>> stocks={'Samsung":100,'Naver"50,'Daum":10}
Buy 50 stocks of Naver >>> for company in stocks.keys():

Buy 10 stocks of Daum

>>>

>>>

print('Buy {} stocks of {}'.format(stocks[company], company))

Buy 100 stocks of Samsung
Buy 50 stocks of Naver
Buy 10 stocks of Daum




4. while

« BEEA 2l Y2 for AL while & ©]§& & St}
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>>> =0

>>> while i<=10: >>> for i in range(0,11):
print(i) print(i)
i=i+1

0

0 1

1 2

2 3

3 4

4 5
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10 >>>
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4. while
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« samsung=40000¥ o]} vt} doll= A7 15% vt 7H3 81d
samsung= samsung + samsung*0.15
samsung= samsung + samsung+*0.15
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>>> samsung =40000
>>> day=0
>>>#Z 4 day<57F HO|H L5 S0{47| S89| A=t A EIC.
>>> while day<5:
samsung = samsung+samsung*0.15
day=day+1
print(day,samsung)

1 46000.0

2 52900.0

3 60835.0

4 69960.25

5 80454.2875
>>>




4. while - break, continue

e While— break, continue

 numF-E end o] 5%+ SN EFE =4
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>>> num=0;end=10

>>>iwhile True :
num+=1
i f num>end: #terminate process
Break # blockE HHO{LtC}.
if num % 2 == 0: #skip even number
Continue # goto while®
print(num) #print odd number

continue
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>>> print('+',end="")

*

>>> print('=",end="");print('x", end="")
* %
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>>> for i in range(1,10) :
Cprint('2 x {} = {}'.format(i,i*2))

2% 1 =2 3% 1 =3
- 2% 2 =4 3%x2=6

gX;_i 2%x3=6 3x3=9

2X3‘6 2% 4 =8 3% 4 =12

X o= 2 %5 =10 3% 5 =15

2R a5l 2x6=12 3x6=18

2 x5 =10 2% 7 =14 3% 7 =21

2x6=12 2% 8 =16 3y 8 =24

2x 7 =14 2% 0 =18 3% Q=27

2 x 8 =16 14
2x9=18



